VEVOR

Affordable. Reliable. Home Improvement.

UNIVERSAL TV STAND

MODEL:PCT01-2

Technical Support and E-Warranty Certificate
www.vevor.com/support






VEVOR UNIVERSAL TV STAND

Affordable. Reliable. Home Improvement.

MODEL:PCT01-2

—\ 100x100 400x100
48\ 200x100 400x200
S@Y): ) 200x200 400x300
%/ 300x200 400x400

300x300 600x400

RATED LISTED WEIGHT. SERIOUS
A INJURY OR PROPERTY DAMAGE ~ PCT01-2
MAY OCCUR!

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



SAFETY INSTRUCTIONS

WARNING:

Before installation, please ensure that your TV stand mounting holes,
dimensions, and weight can meet the specifications and standards of
the TV stand. If you have any questions or questions about the
instructions and warnings, please contact us for help..

A Important:

When installing the support, please use professional safety devices
and tools in accordance with the requirements of the assembly
instructions. Improper installation may cause the TV to fall or serious
injury.

2. Before installation, ensure that the support surface can safely support
the weight of the device and all accessories.

3. Please do not exceed the intended load capacity, otherwise it may
cause serious injury or property damage.

4. This product contains small parts, swallowing them may cause
choking hazards. Please keep out of reach of children.

5. This product is only suitable for indoor use, outdoor use may cause
product damage and personal injury risk.

Maintenance:

Please check the connection between the bracket and the TV periodically
to ensure it remains stable, and verify that the screws have not loosened or
fallen off due to long-term use (at least once every three months). If any
security risks are identified, replace or reinforce the parts promptly.

WARNING FOR POWER STRIP:

ELECTRICAL SHOCK AND FIRE HAZARD!

The power strip is not to be connected to power prlor to installation. Fallure
to comply with thisinstruction could result in an electrical failure, fire and

2



electrocution.

IMPORTANT: Installation of this power strip and related wiring must be
done by aqualified electrician in compliance with all applicable electrical
codes,

- If the supply cord is damaged, it must be replaced by the manufacturer, its
service agent or similarly qualified persons in order to avoid a hazard.

- For indoor use only.

- Under no circumstances could the cover be opened. If the cover is
damaged, the adapter may no longer be used.

- This appliance can be used by children aged 8 years and above and
persons with reduced physical, sensory or mental capabilities or lack of
experience and knowledge if they have been given supervision or
instruction concerning use of the appliance in a safe way and understand
the hazards involved.

- Children shall not play with the appliance.

- Cleaning and user maintenance shall not be made by children without
supervision.

SAVE THIS MANUAL

CORRECT DISPOSAL
This product is subject to the provision of european Directive
2012/19/EU. The symbol showing a wheelie bin crossed
k. through indicates that the product requires separate refuse
~ collection in the European Union. This applies to the product
and all accessories marked with this symbol. Products marked
as such may not be discarded with normal domestic waste, but must be
taken to acollection point for recycling electrical and electronic devices.



PART LIST

PARTS LIST

@ Steel Washer

© piasti w‘ h
/A\ astic Washer

@

N

L
ﬁ:‘; . 3
"""""""""" L
F Smm !
““““““““““ L
"""""""""" M
L ;
_—

FOR TV INSTALLATION

o { :
[ maxao | [ mexi6 | [ mexas | [ M8x16 | [ m8x35 |
[TV1]x4] [Tv2]x4] [Tv3[x4] [Tv4[x4] [TV5[x4] 3
= 3 |

sp2_ | IR [ washer |

[Tv8]x4] [Tvo[x4] [Tv10[x4] ;




ASSEMBLY STEP

s @/

Note:
Support Pillar should be placed
with clip holes facing backwards.

o o




Note:

Support Pillar should
be assembled with
clip holes in the same
side.

4 1 (
(=







Measure the TV fixing holes Width and Height

If width (X) is greater than 600mm or height (Y) You are provided with 4 diameters of TV fixing
greater than 400mm STOP installation now and screws, M4, M5 and M8. Determine the screw

contact the customer help line diameter that fits.

For TVs with irregular/obstructed back

No Spacers For TVs with flat/unobstructed back

WARNING Please keep for future reference.

A




T Emx
+

Washer with 3 holes|
— X4

| ve |
TV2-3
4

Washer with 3 holes|
— X4

Attach the bracket to the back of your TV using suitable screw, reducer and spacer combinations.

NOT INCLUDED \
@

L ve |
TV4-6
+
Washer with 3 holes|
— X4







PRODUCT PARAMETER

Model PCTO01-2

Power AC230V 50Hz 10A (Via Power Strip)
Safe Loading Weight 88 LBS

Product Size 660*380%(1365-1620)mm

This product is subject to the provision of European Directive
2012/19/EC. The symbol showing a wheelie bin crossed through
indicates that the product requires separate refuse collection in the
European Union. This applies to the product and all accessories
marked with this symbol. Products marked as such may not be
discarded with normal domestic waste, but must be taken to a

collection point for recycling electrical and electronic devices.

11



javascript:;

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED. C/O YH Consulting
Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.






Technical Support and E-Warranty Certificate
www.vevor.com/support



